29 58 069 58 ey

= 9°GL €8 L8 ce8 EETAA Chn

& 0L §E 1'6L 178 EFlgHE

BEEZ RIEN RBEHEHZ RBIIX
(H2l~6) ¥ —72¥ (H8~V) X —~%
(YL T} )

NE2OLY "RIRIFEF RIELONEREMIZFEYX
*EEINR<GLCLX (CL/90EL+2L/60FO0) > 2NIHFXOYONBUBOELHH LHOLOEER "FIREEX

TN ERKOEEY

TGN LD RHS LWEHOEHESHE TRIDVCIINEHOEY L MEZEEHI HE LY

(¢82 'L - MM RUZEEE) °=[1+E2E2

BEEHHOHZL~6' Y "H8~V &) HHENIEE " IVCIINBUZ/CUREETIPO Y —2 - ST EF 4K

%9'SL %8°06 %V'€8 (H2L~6)"Y—7Yim
%S'€8 %v'66 %1 76 (H8~V) Y —~E0O
EFee ik A A iy b ARGy

| I

%0
%0T
%0¢

%0¢€
oo =
%09 M%
%09
&om ﬁ

%08
%06
%00T

(HHEe~ 12T GrEESORHHATHLIIHBUCORHAT IO Y — 2 &)

AHOEEHFHOBFHALALLOT KN






